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»Grammar

¥ Choose the correct form in brackets

1-The weather is ( either - neither - both - not only ) hot nor cold .

2- She can speak ( either - neither - both - not only ) English and Spanish .
3- He can have ( either - neither - both - not only ) tea or coffee.

4- He is ( either - neither - both - not only ) poor but also unemployed ..
5- T have got a house, (and - so - but - or) T haven't got a car .

6 - He can live in Dammam ( but - so - or - yet) AL-Khobar .

7- She has a brother ( and - so - but - yet ) two sisters .

8- He was sick ( and - so - but - or ) he couldn't go to school .

9- Hamad studied a lot ( and - so - or - yet ) he didn't pass the exam .

10- English is ( easy - easier - easiest - more easy ) than French .

11- The Nile River is the ( long - longer - longest - more long ) in the world.
12- Bahrain is not as ( big - bigger - biggest - biggest) as Saudi Arabia.

¥ Correct the underlined errors :-

1-T can speak ( neither) English and Spanish fluently. both
2-My mother is very tired . She will ( either ) cook nor clean . neither
3-Ali is ( not only) at school or at home . either

4- iPhone is ( good ) than Samsung . better

5- Asia is ( large ) continent in the world . the largest
6- PEPSI is ( popular ) drink in the world. the most popular
7-The sooner you leave, ( early ) you arrive . the earlier

8-6old is ( expensive ) than siver ..

¥ Do as shown between brackets

1- He is handsome . He is intelligent .

more expensive

( Combine using not only ....but also )
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2-I wasn't tired. I wasn't hungry .

3- Ahmad is smart young man , and so is his brother Nasser.

(Join using neither nor)

(Join using as.......... as )
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wVocabulary

¥ Circle the odd words :
1- action - drama - comedy - penguin

2- Toy Story - LionKing - epics - Finding Nemo

@ Fill in the spaces with suitable word : ( abrupt - capture - untimely - animated )

1- The Lion King is an example of ............. animated......film.
2- A cameraman's job is to .........capture.......the scenes on film
3- The.....akrupt...........ending of the film surprised us .
¥ Match the words with the meanings: ¥ Match the words with their opposites:
1| altered (4 ) | Unusual & attractive 1| comedy (2) | criminal
2| enduring (3 ) | great - remarkable 2| detective (4 ) | natural - subhuman
3| phenomenal (2 ) | lasting 3| evil (1) | tragedy
4| exotic (1) | changed 4| superhuman | (3 ) | good

¥ Underline the correct word for each picture:
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( cop - detective )

(epics - animation )

(planet - meteorite) (comedy - horror)

(remote control - calculator)

¢ Encisar Al-Obadellei
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